N = 0l & At & M A

2021 = =0 & LS A O EItE Y

M HEIIED
HH: B8 U JIEAE
Sel: =T (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
&= 70,311,396 62,177,148 8,134,248
= 35,323,879
J| 2,571,834
Al 27,584,918
-4l 4,830,765
25 2 I}HEAH 70,252,310 62,103,594 8,148,716
= 35,318,879
J| 2,571,834
Al 27,584,918
- Hl 4,776,679
=X 5,781,213 5,559, 158
= 2,322,189
J| 495,401
Al ,625,381
Tl 338,242
A2 IME K2 HH 209,000 209,000
| 104,500
Al 52,250
Tl 52,250
307 21201 A 209,000 209,000
| 104,500
Al Hl 52,250
Tl 52,250
05 BIZHRI & 3 209,000 209,000
OALINEXNJAEEH 2 209,000, 000& 209,000
| 104,500
AlHI 52,250
I 52,250
HARAJNNEX A 140,000 140,000
= 70,000
AlHI 70,000
307 glz2tol & 140,000 140,000
= 70,000
AlHI 70,000
05 RIZHRI & 3 140,000 140,000
oisgzd 140,000, 000& 140,000
= 70,000
Al HI 70,000
SSs|0UsH 2¢ 130,260 130,260
| 65,130
AlHI 65,130
307 21201 A 130,260 130,260
| 65,130
AlHI 65,130
05 RIZt2IEt = 130,260 130,260
O&s =0t 130,260, 000& 130,260
| 65,130




AN GEIEY
g 25 ¢ HEXNE
el 0= X (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
| Al'H] 65,130
Bss0tUsH =4 80,000 40,000 40,000
401 Al HI R 201 I 40,000 0 40,000
01 A& Hl 40,000 0 40,000
Oz=ss0tLsH 222 E 40,000,000& 40,000
405 RHoHE S HI 40,000 0 40,000
01 AL EZFH S 40,000 0 40,000
OZ2s=s0tUsH JINH 2 40,000,000& 40,000
AL XNJHE SAMK SRNELAE K 1,800 0 1,800
AlHI 1,800
307 21201 A 1,800 0 1,800
AlHI 1,800
05 RIZt2IEt = 1,800 0 1,800
OALINEXNJHEH MK SXNELLE K&
1,800,000& 1,800
Al HI 1,800
otolss XA 3,130,127 3,130,127 0
= 2,191,089
Al HI 939,038
301 LetBA S 3,130,127 3,130,127 0
= 2,191,089
AlHI 939,038
01 MEIBEE 263 3,130,127 3,130,127 0
ootolss N& 3,130, 127,000 3,130,127
= 2,191,089
AlHI 939,038
Ot0l=3 Gotdl N3 27,351 27,351 0
Al 27,351
301 LA F 27,351 0 27,351
Al 27,351
01 Ml28E 6= 27,351 0 27,351
OotolE= HatIl K& 27,351,000& 27,351
AlHI 27,351
d4=Z4d JI3EY dEga 29 122,201 122,201 0
= 61,100
AlHI 61,101
307 glz2+ol & 122,201 122,201 0
= 61,100
AlHI 61,101
11T M SXASEEX 122,201 122,201 0
OAfSl JtEZeises 2% X
122,201,000& 122,201
= 61,100
AlHI 61,101




AN GEIEY
B 88 U RIS
el HgsX (&)
SA - BB B () - MM - BES Ol &t o San HmEET
At DtE = 4g A SAL SX=L(AlHl) 11,040 11,040 0
AlHI 11,040
307 gl2tol & 11,040 11,040 0
Al 11,040
11T ALS S RAEE = 11,040 11,040 0
OAtst DI =584 29 11,040,000& 11,040
AlHI 11,040
E X2 2 (AlY]) 630,000 630,000 0
AlHI 630,000
301 LEXZ 630,000 630,000 0
AlHI 630,000
01 MEI2BZE+05l= 630,000 630,000 0
OZSAXIA3 (AL 630,000,000 630,000
Al 630,000
ERNONE = 150,000 195,000 A 45,000
301 LerEBAF 150,000 195,000 A 45,000
01 AR 2& A5l 3 150,000 195,000 A 45,000
OSMOI=XH ESLXE=S 150,000, 000& 150,000
EMNEE NE 196,000 196,000 0
Al 196,000
301 LA F 196,000 196,000 0
Al 196,000
01 Mel28HE 6= 196,000 196,000 0
Os4tEs N 196,000, 000& 196,000
AlHI 196,000
zSsw Y=otz 240,000 0 240,000
AlHI 240,000
301 LEHZ 240,000 0 240,000
AlHI 240,000
01 MEIBEZE+05l= 240,000 0 240,000
Ox=sstn L&=dt=a 240,000, 000& 240,000
Al HI 240,000
Ot RIS MZE XI& 2,400 2,400 0
201 et 2,400 2,400 0
01 At 22l 2,400 2,400 0
O0tsetE X T ME X2 2,400,000 2,400
Ch2shts XNEMH 2SN 230,800 230,800 0
J| 115,400
Al 115,400
307 21201 A 230,800 230,800 0
J| 115,400
Al Hl 115,400




M 08I ED
M 28 2 XA
Sel: =T (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
05 RIZHRI & 3 230,800 230,800 0
OUIaIEXNJEH 29 XA
230,800, 000& 230,800
| 115,400
AlHI 115,400
Ct2sttd SEd3t AHZH| 417,742 0 417,742
| 208,871
AlHI 208,871
307 glz2tol & 417,742 0 417,742
J| 208,871
AlHI 208,871
05 RIZHRIE 3 417,742 0 417,742
OUIsItE E2usMHlA 245,610,000& 245,610
| 122,805
AlHl 122,805
OLEZ3It= Atdll2tel X3 30,649,000 30,649
| 15,325
AlHI 15,324
OUEI&IE 0= =8 At Y
28,325,000& 28,325
| 14,162
AlHI 14,163
OUIshitsE dege XA 65,640,000 65,640
| 32,820
Al HI 32,820
OZE0I2X S8HA MHA X
27,509,000& 27,509
| 13,755
Al HI 13,754
OU=2sIt=E e=20ns 249X&
20,009,000& 20,009
| 10,004
Al HI 10,005
HOJl= 220104 018 At 3,000 0 3,000
| 1,500
AlHI 1,500
307 21201 A 3,000 0 3,000
| 1,500
AlHI 1,500
05 RIZHRI & 3 3,000 0 3,000
OX0tIt= 220104 GOl M
3,000,000& 3,000
| 1,500
Al HI 1,500
CEsdE sl 6,000 6,000 0
307 glz2+ol & 6,000 6,000 0
05 RIZHRI &3 6,000 6,000 0




2N
X ZH -
L= B

el

GRS
2 2 JIHENE
GESEEPN

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
Ot u=x N (ZFFH2A XH)
6,000,000 6,000
Ct23t olof & 23,000 23,000 0
307 212t01 & 23,000 0 23,000
05 A2t E =2 23,000 0 23,000
OotstiEs WX (s 2AE I1A &)
18,000,000& 18,000
OURsIIE 22 (Hsitia s)
5,000,000 5,000
G2 XJMEH SAX SXNENE X2 2,400 0 2,400
AlH] 2,400
307 QI2t0| M 2,400 0 2,400
AlH] 2,400
05 QI2tRE 2 2,400 0 2,400
OUSINEXNIHEH SALL SAEQUE X2
2,400,000 2,400
Al Bl 2,400
s s& 4,802 4,917 A 115
201 LEt2HY| 1,089 1,089 0
01 AFR2t2l bl 1,089 1,089 0
OSMEHAIM EF S 900
EEZE M 300,000& *33] 900
OWY X SdHAI2S 189
S0 2 AT MHE 70,000& *3IH *90% 189
203 @R =AY 1,397 1,512 A 115
03 AIHZ=XIAH L= XY 1,397 1,512 A 115
OdXA=SAME 29 10,000& x40 x90% 360
OAEHR =T (SHSA 2 & XE)
1,152,000& *90% 1,037
301 dEtEX = 2,316 2,316 0
0B MI=FRLAENZ 1,584 1,584 0
Os4A| 6,000 *x22 x 128 1,584
09 HALAHIXI &= 732 732 0
OAIEe BIM= Y AAIS 100,000& *3H 300
Oodsdns &4 120,000& *2H *23] x90% 432
HAESEA =4 5,790 5,820 A 30
201 Bt H | 2,340 2,340 0
01 At 2t 2l Yl 2,340 2,340 0
OWHZZZAl 1A ML DR 1,800,000& 1,800
OWHZIIEZA EE22 HMH 540,000& 540
203 € R =&Y| 450 500 A 50




2N
X ZH -
L= B

el

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
03 A F=XH R =ZH| 450 500 A50
OWHZSITA H2FX 500,000& *90% 450
301 LA F 3,000 2,980 20
09 #HALAHIXI &3 3,000 1,980 1,020
OWHLZESEA =2EHE &5 3,000,000 3,000
HEdHHd 22 &3 X 10,500 10,500 0
307 21201 A 10,500 10,500 0
02 It S AHE L 10,500 10,500 0
o4t s 2d&s XA 10,500, 000& 10,500
EZH0E E8MAH 25 29 7,000 0 7,000
AlHI 3,500
- Hl 3,500
201 ¢er24] 7,000 0 7,000
AlHI 3,500
T Hl 3,500
01 At 2t 2l 7,000 0 7,000
OWd=30Y g8dMH =5 29
7,000,000& 7,000
AlHI 3,500
L Hl 3,500
StRZ It =X s 3,389,121 3,408,027 A 18,906
= 126,900
J| 2,076,433
AlHI 1,184,204
T Hl 1,584
MAZSOH(2XESAE) 141,000 141,000 0
= 126,900
AlHI 14,100
301 LEMZ 141,000 141,000 0
= 126,900
Al 14,100
01 MEI2EZE+5l= 141,000 141,000 0
OZXNESAE A=A 141,000, 000& 141,000
= 126,900
Al 14,100
AESANE 29 380,419 379,919 500
AlH 380,419
307 glz2+ol & 380,419 379,919 500
AlHI 380,419
10 ALSISEXAIEEE2EHEX 380,419 379,919 500
ORXNESAE 2g4| 379,919,000 379,919
Al 379,919
OZXNESAE SAX BXNEAE =2
500,000& 500

_6_




M 08I ED
B 88 U RIS
ool R0 )Y =X B3 CERED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
| Al'H] 500
DAUESAIE E§4A% JEHEHZ X 40,000 40,000 0
Al H] 40,000
301 Bt ™M= 40,000 40,000 0
AlH] 40,000
01 M BEEE2G2 40,000 40,000 0
ORXNESAAE 4K ANHAEHERZ X
40,000, 000& 40,000
Al H] 40,000
SHERIIS AlE ALK AEXES K™ 17,782 17,782 0
J| 8,891
Al H] 8,891
307 212t0| & 17,782 17,782 0
J| 8,891
Al HI 8,891
11T A EXAIEEX 17,782 17,782 0
OYaxt axlg X 17,782,000 17,782
Dl 8,891
Al HI 8,891
SIRER2IIE SXAIE HEgZz)dy XA 2,500 2,500 0
Al HI 2,500
307 QI2t0| & 2,500 2,500 0
Al H] 2,500
11 AMISAAEEXR 2,500 2,500 0
OstE2IIE SXAME Mgzl X
2,500,000 2,500
Al H] 2,500
SIRERIIETE 4=H & A& 2,506,589 2,506,589 0
Dl 2,005,271
Al H] 501,318
301 et M= 2,506,589 2,506,589 0
Dl 2,005,271
Al H] 501,318
01 M BEAELG2 2,506,589 2,506,589 0
OstE2It= X ¢SH & NH
2,506,589,000& 2,506,589
Dl 2,005,271
Al H] 501,318
StE2IIE ItH K& 217,054 236,460 AN 19,406
Al H] 217,054
301 et ™M= 217,054 236,460 A 19,406
Al H] 217,054
01 M BEEE2G2 217,054 236,460 AN 19,406
O=s10M NEH, 23| 215,246,000& 215,246
Al Hl 215,246




2N
X ZH -
L= B

el

U

-
=]

-y
04

o
4T 40 ox
(u]

o

Ol

Jo =

pS|

(il

0,
J

S HD B (SH) - NRAY - BAS O 4t o8 il
O822I XE(nsstAd) usdl X
1,808,000& 1,808
Al H] 1,808
SXotE =HAA 1,100 ,100 0
AlH] 1,100
301 dEtE ™M =2 1,100 ,100 0
AlH] 1,100
01 MSIBEEE G2 1,100 ,100 0
SXE =HAS 1,100, 000& 1,100
Al H] 1,100
HAad S22 olsdsd A& 35,100 ,100 0
Jl 28,080
Al HI 7,020
301 et M= 35,100 ,100 0
Jl 28,080
Al H] 7,020
01 MIIEEE G2 35,100 ,100 0
OFad 822 g X3 35,100, 000& 35,100
J| 28,080
Al H] 7,020
DAESAIAE ool MEIA X 39,341 ,341 0
J| 27,539
Al HI 11,802
307 212t0| & 39,341 ,341 0
Dl 27,539
Al Hl 11,802
10 M SXNANEEHESIHEX 39,341 ,341 0
ORXESAAE Ol0I=SAMHIA K&
39,341,000 39,341
J| 27,539
AlH] 11,802
SHE2 AlE AISIERL@ 2AHH & K& 6,652 ,236 ,584
Dl 6,652
301 dEtE M= 6,652 ,236 ,584
Dl 6,652
0B MBI ERLIEAZ 6,652 ,236 ,584
OStREZAAE AIS=ERA 2HH § XA
6,652,000 6,652
Jl 6,652
SIE2AAE AISISRE SAHI 1,584 0 ,584
301 deEtE X = 1,584 0 ,584
0B MBI =ERLIEAS 1,584 0 ,584
OstREZ2AE AIS=R2E SAH X3
1,584 ,000& 1,584




M HEIIED
Ha: 28 2 JFAL
el & - 20t FHIIEL =4 (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
g - R0t 4018t =4 61,081,976 53,136,409 7,945,567
= 32,869,790
AlHI 23,775,333
- Hl 4,436,853
FrolEsz N& 26,597,148 20,399,000 6,198,148
= 19,947,861
AlHI 4,654,501
-4l 1,994,786
307 gl2tol & 26,597,148 20,399,000 6,198,148
= 19,947,861
Al 4,654,501
Tl 1,994,786
05 BIZHRI & 3 26,597,148 20,399,000 6,198,148
OgsotEsz XN& 26,597, 148,000& 26,597,148
= 19,947,861
Al 4,654,501
I 1,994,786
Sl 282 K& 11,260,434 9,225,000 2,035,434
AlHI 11,260,434
307 glz2+0ol & 11,260,434 9,225,000 2,035,434
AlHI 11,260,434
05 RIZHRI &t 3 11,260,434 9,225,000 2,035,434
O 282 Nd 11,260,434, 0008 11,260,434
Al 11,260,434
HIZOHO e B2 K& 153 153 0
Al Hl 135
I 18
301 P EHZ 153 153 0
AlHI 135
I 18
01 MEIBE X253 153 153 0
OdlZoior ¢gt: 282 XA 153,000& 153
AlHI 135
T Hl 18
b SL N (0ROIE 00IS0HS) 7,731,337 7,731,337 0
2 5,798,503
AlHI 1,352,984
T Hl 579,850
301 LEHZ 7,731,337 7,731,337 0
= 5,798,503
AlHI 1,352,984
-4l 579,850
01 A3l EE E 56l = 7,731,337 7,731,337 0
oitzggs=4 XA 7,731,337,000& 7,731,337
= 5,798,503
Al HI 1,352,984




2H: 0
3y =2
g

el

= _ — d =
SA - BB B () - MM - BES Ol &t o e
| -t 579,850
AMZEHIESAHEIA HE K& 84,000 84,000
= 42,000
AlHI 21,000
T Hl 21,000
301 LEMZ 84,000 84,000
= 42,000
Al 21,000
- Hl 21,000
01 MI2EZE 06z 84,000 84,000
OAMZHESAHEIA M3 XA 84,000,000& 84,000
= 42,000
AlHI 21,000
I 21,000
Helold @YX (W -4l) 89,664 89,664
= 53,798
AlHI 25,106
I 10,760
307 21201 A 89,664 89,664
= 53,798
AlHI 25,106
4l 10,760
10 ALSISXAIEEE2GHEX 89,664 89,664
Odglold wMuw-d XA 89,664,000 89,664
= 53,798
AlHI 25,106
T Hl 10,760
Heoly 2R (Ht2gl) 2,230 2,230
= 1,338
Al 625
-l 267
307 21201 A 2,230 2,230
= 1,338
Al 625
-l 267
10 ALl SXNAIEEE2EHEX 2,230 2,230
OXMHEROIME0IE X&E28Hl XA
2,230,000 2,230
= 1,338
AlHI 625
T Hl 267
dEXNENHS0E HEF23d N3 16,200 16,200
Al 16,200
307 21201 A 16,200 16,200
Al 16,200
10 M2 SXNANEHE2IHEX 16,200 16,200




2N

O
M 8 2 JIEXE
el g R0 FAIIY F4
- _ _ RE]
SN EHD B (3H) - MEAY - BAS ol &k o8 %Ei
OFEXNANHe 0l Aexdd N
16,200,000 16,200
Al HI 16,200
20X 0ld IHFedd Ad 72,000 72,000
307 212t0| & 72,000 72,000
10 M SXANEEHESIGHEX 72,000 72,000
OFL0IXNSEE0d MH&F2HH XH
72,000,000 72,000
Helold S&Ess & 23 AHl X 88,400 88,400
Al HI 88,400
307 Q12t0| ™ 88,400 88,400
Al HI 88,400
11 A EXAIEE X 88,400 88,400
ONelold s&asts & S AHl K&
88,400,000 88,400
Al HI 88,400
OF2t0igl ol SBelA2 HMYlA X 734 734
Al HI 734
307 QI2t0| ™ 734 734
Al HI 734
11T A EXAIEEX 734 734
QOot2to{elold ZelA= AMHlA XIS
734,000 734
Al HI 734
2280 0ld X 764,075 764,075
= 458,445
Al HI 213,941
24| 91,689
307 QI2t0| ™ 764,075 764,075
i 458,445
Al HI 213,941
24| 91,689
10 A SXAANEEHESIGHEX 764,075 764,075
O2280aold A 764 ,075,000& 764,075
- 458,445
Al HI 213,941
T 91,689
2280 0ld Xx2|& oA X 61,200 61,200
Al HI 61,200
307 2Iz2t0| A 61,200 61,200
Al HI 61,200
10 M SXNANEEHESIGHEX 61,200 61,200
O2Z&80e0ld Xgla orAHd X
61,200,000 61,200
Al HI 61,200




M 08I ED
3 8258 L JIEXE
oelr @ R0 FAI £4 CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
B AJ olAH XA 7,215,129 7,215,129 0
= 4,329,077
Al HI 2,020,235
T 865,817
307 2Iz2to| & 7,215,129 7,215,129 0
= 4,329,077
Al HI 2,020,235
Tyl 865,817
10 MM SXANEEHESIGHEX 7,215,129 7,215,129 0]
ONEold SAFXR o1Hdd|l K&
7,215,129,000& 7,215,129
= 4,329,077
Al HI 2,020,235
I 865,817
BESNXE MMM XN (2EEWARI2AH]) 1,271,296 1,271,296 0
= 762,778
Al HI 355,963
T 152,555
307 2Iz2t0| & 1,271,296 1,271,296 0
= 762,778
Al HI 355,963
Tl 152,555
10 M SXANEEHESIGHEX 1,271,296 1,271,296 0
ONelold BXWA o0AHH XN
1,271,296,000& 1,271,296
= 762,778
Al HI 355,963
T 152,555
BN HRMH XN (2RHFIAH) 2,154,900 2,154,900 0
= 1,292,940
Al HI 603,372
T 258,588
307 212t0| & 2,154,900 2,154,900 0
= 1,292,940
Al HI 603,372
Tl 258,588
10 M SXANEEHESIGHEX 2,154,900 2,154,900 0
ONeold BE=xA 22&dAdl K&
2,154 ,900,000& 2,154,900
= 1,292,940
Al HI 603,372
I 258,588
HEXNJNHE 0 & EKuA SXxE X 24,840 24,840 0
Al HI 24,840
307 S12t0| & 24,840 24,840 0
Al HI 24,840
10 MASXAEEHESIHEX 24,840 24,840 0




2N

o
3 8258 L JIEXE
@2 920 408t &4 (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OZEXNLKNE0IE EEWA 22X XA
24 ,840,000& 24,840
Al H] 24,840
H20XNNHe0E BExsWA SX=E A& 1,301,400 1,301,400 0
AlH] 1,301,400
307 QI2t0| ™ 1,301,400 1,301,400 0
AlH] 1,301,400
10 Al SXAIEEE2IHIEX 1,301,400 1,301,400 0
OFR0NLNE0IE BESWA 22X XA
1,301,400, 000& 1,301,400
Al H] 1,301,400
20NN 0 BEsWA )25 A& 73,000 73,000 0
AlH] 73,000
301 dBtEX = 73,000 73,000 0
Al H] 73,000
01 MIIBEEE2G2 73,000 73,000 0
OFROXNINE0E BESRAI 25+
K& 73,000, 000& 73,000
AlH] 73,000
HE0XNKNHS 0 =2l olAHd X 134,662 134,662 0
Al Hl 134,662
307 212t0| & 134,662 134,662 0
Al HI 134,662
10 AIRIEXAIEEHE2IGHIEX 134,662 134,662 0
OFR0XNSHES0IE xe|& oAl X3
134,662, 000& 134,662
AlH] 134,662
G R0 0d BEsAI E£2 2 K& 18,000 18,000 0
Al Hl 18,000
307 212t0| & 18,000 18,000 0
Al HI 18,000
10 AIRISEXAIEEHE2IHIEX 18,000 18,000 0
OHMNEROINE0IE EKDAI EX22H
X & 18,000,000 18,000
Al HI 18,000
HUHE SO0l XS A 22&HMAH XS 3,600 3,600 0
Al H] 3,600
301 LEtE M= 3,600 3,600 0
Al HI 3,600
01 M EXEE G2 3,600 3,600 0
OXZMHEROIHE0IE XIS A 22&H A I
X & 3,600,000 3,600
Al HI 3,600
ZOHOIE S0l & XFEIIAQI24H] K& 3,600 0 3,600
Al HI 3,600




2N
X ZH -
L= B

el

- _ _ RE]
NS - o9 (3H) - MEAY - B %Ei HR=2
307 2Iz2to| & 3,600 0 3,600
Al H] 3,600
10 M SXAEEHESIGHEX 3,600 0 3,600
O&otE20 20l & 2EJ|AF Q124Hl K&
3,600,000& 3,600
Al H] 3,600
QRALHEHY 24 6,100 6,100 0
= 3,050
Al H] 1,525
Tl 1,525
301 LBt A= 6,100 6,100 0
= 3,050
Al H] 1,525
Tyl 1,525
09 HAIAHI X & 2 6,100 6,100 0
220 LHY 249 6,100,000& 6,100
= 3,050
Al Hl 1,525
24| 1,525
2Iold K& 227,630 374,014 A\ 146,384
201 et2 Y| 27,510 168,950 A 141,440
01 AP 22| d| 27,510 168,950 A 141,440
OR2XMoelold E£X A=
14,000,000 14,000
Ox=E22Z20{20|& dAIOAE A=
3,300,000& 3,300
Oa2dux LAY =S 2,250,000& 2,250
OgolE | LS = 1,000, 0008 1,000
O500 0|12 ofelolE Al A2
1604 2~ *30, 000 & x23| 6,960
307 QI2+0| & 198,120 202,344 A4, 224
11T A EXAIE EX 198,120 202,344 N4, 224
OO0l s8R A X&  1,000,000& 1,000
O0elolE Hers K& 2,000,000& 2,000
Oooglold Hetdl XI& 40,000, 000& 40,000
O0elolE ety XI& 78,000,000 78,000
OgX o200y ®Ie=s AH
100,000& = 12& 1,200
oddg, thasoelold g 520 22
Hl X & 1,000,000 *204 &~ 2,000
Ooglold sty RAH XIS
73,920,000 73,920
401 Al HI L =2 THYI 2,000 2,000 0
01 Al&H| 2,000 2,000 0




AN GEIEY
Ha: 28 2 JFAL
&??: & - R0 I8 =4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OHM3E AN&sS I8 g4
1,000, 000& *23| 2,000
oo &= 382,500 206,439 176,061
2 180,000
Al 90,000
- Hl 112,500
402 2I2H X201 M 382,500 206,439 176,061
= 180,000
AlH 90,000
- Hl 112,500
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